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1997 £ 1 A R2EWRE1E NP IS

Part I Listening Comprehension (20 minutes) (#%)

Part I Reading Comprehension (35 minutes )

Directions: There are 4 reading passages in this part. Each passage is followed by some
questions or unfinished statements. For each of them there are four choices marked
A), B), C) and D). you should decide on the best choice and mark the
corresponding letter on the Answer Sheet with a single line through the centre.

Passage 1|

Questions 21 to 25 are based on the following passage.

More and more, the operations of our businesses, governments, and financial institutions are
controlled by information that exists only inside computer memories. Anyone clever enough to modify this
information for his own purposes can reap substantial rewards. Even worse, a number of people who have
done this and been caught at it have managed to get away without punishment.

It’s easy for computer crimes to go undetected if no one checks up on what the computer is doing. But
even if the crime is detected, the criminal may walk away not only unpunished but with a glowing
recommendation from his former employers.

Of course, we have no statistics on crimes that go undetected. But it’s disturbing to note how many of
the crimes we do know about were detected by accident, not by systematic inspections or other security
procedures. The computer criminals who have been caught may be the victims of uncommonly bad luck .

For example, a certain keypunch ($#%4T¥L) operator complained of having to stay overtime to
punch extra cards. Investigation revealed that the extra cards she was being asked to punch were for
dishonest transactions. In another case, dissatisfied employees of the thief tipped off ([i]------ FEFE) the
company that was being robbed.

Unlike other lawbreakers, who must leave the country, commit suicide, or go to jail, computer
criminals sometimes escape punishment, demanding not only that they not be charged but that they be
given good recommendations and perhaps other benefits. All too often, their demands have been met.

Why? Because company executives are afraid of the bad publicity that would result if the public found
out that their computer had been misused. They hesitate at the thought of a criminal boasting in open court
of how he juggled (T 7 ) the most confidential records right under the noses of the company’s
executives, accountants, and security staff. And so another computer criminal departs with just the
recommendations he needs to continue his crimes elsewhere.

21. It can be concluded from the passage that .
A) it is still impossible to detect computer crimes today
B) computer crimes are the most serious problem in the operation of financial institutions

C) computer criminals can escape punishment because they can’t be detected



D) people commit computer crimes at the request of their company
22. Tt is implied in the third paragraph that _

A) many more computer crimes go undetected than are discovered

B) the rapid increase of computer crimes is a troublesome problem

C) most computer criminals are smart enough to cover up their crimes

D) most computer criminals who are caught blame their bad luck
23. Which of the following is mentioned in the passage?

A) A strict law against computer crimes must be enforced.
B) Companies need to impose restrictions on confidential information.
C) Companies will guard against computer crimes to protect their reputation.
D) Companies usually hesitate to uncover computer crimes.
24. What may happen to computer criminals once they are caught?

A) With a bad reputation they can hardly find another job.

B) They will be denied access to confidential records.

C) They may walk away and easily find another job.

D) They must leave the country or go to jail.

25. The passage is mainly about ____

A) why computer crimes are difficult to detect by systematic inspections

B) why computer criminals are often able to escape punishment

C) how computer criminals manage to get good recommendation from their former employers

D) why computer crimes can’t be eliminated
Passage 2
Questions 26 to 30 are based on the following passage.

It is often claimed that nuclear energy is something we cannot do without. We live in a consumer
society where there is an enormous demand for commercial products of all kinds. Moreover, an increase in
industrial production is considered to be one solution to the problem of mass unemployment. Such an
increase presumes an abundant and cheap energy supply. Many people believe that nuclear energy provides
an inexhaustible and economical source of power and that it is therefore essential for an industrially
developing society. There are a number of other advantages in the use of nuclear energy. Firstly, nuclear
power, except for accidents, is clean. A further advantage is that a nuclear power station can be run and
maintained by relatively few technical and administrative staff. The nuclear reactor represents an enormous
step in our scientific evolution and, whatever the anti-nuclear group says, it is wrong to expect a return to
more primitive sources of fuel. However, opponents of nuclear energy point out that nuclear power stations
bring a direct threat not only to the environment but also to civil liberties.

Furthermore, it is questionable whether ultimately nuclear power is a cheap source of energy. There
have, for example, been very costly accidents in America, in Britain and, of course, in Russia. The
possibility of increases in the cost of uranium (%) in addition to the cost of greater safety provisions could
price nuclear power out of the market. In the long run, environmentalists argue, nuclear energy wastes
valuable resources and disturbs the ecology to an extent which could bring about the destruction of the

human race. Thus, if we wish to survive, we cannot afford nuclear energy. In spite of the case against
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nuclear energy outlined above, nuclear energy programmes are expanding. Such an expansion assumes a
continual growth in industrial production and consumer demands. However, it is doubtful whether this
growth will or can continue. Having weighed up the arguments on both sides, it seems there are good
economic and ecological reasons for sources of energy other than nuclear power.
26. The writer’s attitude toward nuclear energy is .

A) indifferent B) tolerant C) favorable D) negative

27. According to the opponents of nuclear energy, which of the following is true of nuclear energy?
A) Primitive B) Cheap C) Exhaustible D) Unsafe.

28. Some people claim that nuclear energy is essential because

A) it provides a perfect solution to mass unemployment

B) it represents an enormous step forward in our scientific evolution

C) it can meet the growing demand of an industrially developing society

D) nuclear power stations can be run and maintained by relatively few technical and administrative

staff
29. Which of the following statements does the writer support?

A) The demand for commercial products will not necessarily keep increasing.

B) Nuclear energy is something we cannot do without.

C) Uranium is a good source of energy for economic and ecological reasons.

D) Greater safety provisions can bring about the expansion of nuclear energy programmes.

30. The function of the last sentence is to

A) advance the final argument

B) reflect the writer’s attitude

C) reverse previously expressed thoughts

D) show the disadvantages of nuclear power
Passage 3
Questions 31 to 35 are based on the following passage.

Clothes play a critical part in the conclusions we reach by providing clues to who people are, who they
are not, and who they would like to be. They tell us a good deal about the wearer’s background,
personality, status, mood, and social outlook .

Since clothes are such an important source of social information, we can use them to manipulate
people’s impression of us. Our appearance assumes particular significance in the initial phases of
interaction that is likely to occur. An elderly middle-class man or woman may be alienated (BT : - )
by a young adult who is dressed in an unconventional manner, regardless of the person’s education,
background, or interests.

People tend to agree on what certain types of clothes mean. Adolescent girls can easily agree on the
lifestyles of girls who wear certain outfits (%£%%), including the number of boyfriends they likely have had
and whether they smoke or drink. Newscasters, or the announcers who read the news on TV, are
considered to be more convincing, honest, and competent when they are dressed conservatively. And
college students who view themselves as taking an active role in their interpersonal relationships say they

are concerned about the costumes they must wear to play these roles successfully. Moreover, many of us
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can relate instances in which the clothing we wore changed the way we felt about ourselves and how we
acted. Perhaps you have used clothing to gain confidence when you anticipated a stressful situation, such
as a job interview, or a court appearance.

In the workplace, men have long had well-defined precedents and role models for achieving success.
It has been otherwise for women. A good many women in the business world are uncertain about the
appropriate mixture of “masculine” and “feminine” attributes they should convey by their professional
clothing. The variety of clothing alternatives to women has also been greater than that available for men.
Male administrators tend to judge women more favorably for managerial positions when the women display
less “feminine” grooming (¥T#}) —shorter hair, moderate use of make-up, and plain tailored clothing.
As one male administrator confessed, “An attractive woman is definitely going to get a longer interview,
but she won’t get a job.”
31. According to the passage, the way we dress

A) provides clues for people who are critical of us

B) indicates our likes and dislikes in choosing a career

C) has a direct influence on the way people regard us

D) is of particular impostance when we get on in age
32. From the third paragraph of the passage, we can conclude that young adults tend to believe that

certain types of clothing can

A) change people’s conservative attitudes toward their lifestyles

B) help young people make friends with the opposite sex

C) make them competitive in the job market

D) help them achieve success in their interpersonal relationships
33. The word “precedent” (Line 1, Para. 4) probably refers to )

A) early acts for men to follow as examples

B) particular places for men to occupy especially because of their importance

C) things that men should agree upon

D) men’s beliefs that everything in the world has already been decided
34. According to the passage, many career women find themselves in difficult situations because

A) the variety of professional clothing is too wide for them to choose

B) women are generally thought to be only good at being fashion models

C) men are more favorably judged for managerial positions

D) they are not sure to what extent they should display their feminine qualities through clothing
35. What is the passage mainly about?

A) Dressing for effect. B) How to dress appropriately.
C) Managerial positions and clothing. D) Dressing for the occasion.
Passage 4

Questions 36 to 40 are based on the following passage.

The more women and minorities make their way into the ranks of management, the more they seem to
want to talk about things formerly judged to be best left unsaid. The newcomers also tend to see office
matters with a fresh eye, in the process sometimes coming up with critical analyses of the forces that shape
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everyone’s experience in the organization.

Consider the novel views of Harvey Coleman of Atlanta on the subject of getting ahead. Coleman is
black. He spent 11 years with IBM, half of them working in management development, and now serves as
a consultant to the likes of AT&T, Coca-Cola, Prudential, and Merch. Coleman says that based on what
he’s seen at big companies, he weighs the different elements that make for long-term career success as
follows: performance counts a mere 10% ; image, 30% ; and exposure, a full 60% . Coleman concludes
that excellent job performance is so common these days that while doing your work well may win you pay
increases, it won’t secure you the big promotion. He finds that advancement more often depends on how
many people know you and your work, and how high up they are.

Ridiculous beliefs? Not to many people, especially many women and members of minority races who,
like Coleman, feel that the scales (FEHR ) have dropped from their eyes. “Women and blacks in
organizations work under false beliefs,” says Kaleel Jamison, a New York-based management consultant
who helps corporations deal with these issues. “They think that if you work hard, you’ll get ahead—that
someone in authority will reach down and give you a promotion.” She adds, ” Most women and blacks are
so frightened that people will think they’ve gotten ahead because of their sex or color that they play down
(i -veeee AR ) their visibility.” Her advice to those folks: leam the ways that white males have
traditionally used to find their way into the spotlight.

36. According to the passage, “things formerly judged to be best left unsaid” (Line 2, Para. 1) probably

refers to ¢ 7

A) criticisms that shape everyone’s experience

B) the opinions which contradict the established beliefs

C) the tendencies that help the newcomers to see office matters with a fresh eye

D) the ideas which usually come up with new ways of management in the organization
37. To achieve success in your career, the most important factor, according to the passage, is to

A) let your superiors know how good you are

B) project a favorable image to the people around you

C) work as a consultant to your superiors

D) perform well your tasks given by your superiors
38. The reason why women and blacks play down their visibility is that they

A) know that someone in authority will reach down and give them a promotion

B) want to give people the impression that they work under false beliefs

C) don’t want people to think that their promotions were due to sex or color

D) believe they can get promoted by reason of their sex or color
39. The author is of the opinion that Coleman’s beliefs are .

A) biased B) popular C) insightful D) superficial
40. The best title for this passage would be

A) Role of Women and Minorities in Management

B) The Importance of Being Visible

C) Job Performance and Advancement

D) Sex and Career Success



Part Il Vocabulary and Structure (20 minutes)
Directions: There are 30 incomplete sentences in this part. For each sentence there are four

6

choices marked A), B), C) and D). Choose the ONE that best completes the
sentence. Then mark the corresponding letter on the Answer Sheet with a single line
through the centre.

41. Asa _____ actor, he can perform, sing, dance and play several kinds of musical instruments.
A) flexible B\) versatile C) sophisticated D) productive
42. There are not many teachers who are strong _ of traditional methods in English teaching.
A) sponsors:‘ B) contributors\_ () advocates D) performers
43. We managed to reach the top of the mountain, and half an hour later we began to
A) ascend B) descend C) decline - D) plunge
44. Competition, they believe, ___  the national character than corrupt it.
A) enforces : B) confirms C) intensifies D) strengthens
45. The accident __w him of his sight and the use of his legs.
A) excluded B) disabled C) deprived D) gripped
46. On weekends my grandpa usually _ a glass of wine. ‘
A) subscribes to  B) engages in C) hangs on’ D) indulges in
47. The people living in these apartments have free ___ to that swimming pool.
A) access B) excess C) excursion D) recreation
48. At the party we found that shy girl her mother all the time.
A) depending on  B) coinciding with ) adhering to . D) clinging to
49. When a psychologist does a general experiment about the human mind, he selects people and
asks them questions._ »
A) at length " " B) at random C) in essence D) in bulk
50. I think she hurt my feelings  rather than by accident as she claimed.
A) virtually B) deliberately C) literally D) appropriately
51. Even though he was guilty, the judge did not send him to prison.
A) merciful B) impartial C) conscientious D) conspicuous
52. The education ______ for the coming year is about $ 4 billion, which is much more than what people
expecled.
A) allowance B) reservation C), budget D) finance
53. They had a fierce ______ as to whether their company should restore the trade relationship which was
broken years ago. L
A) debate B) clash C) disagreement D) contest
54. They tossed your thoughts back and forth for over an hour, but still could not make ~ of them.
A) impression B) comprehension C) meaning D) sense
55. The politician says he will ____ the welfare of the people.
A) prey on B) take on C) get at D). see to
56. I you the bottle and cigarettes, you’ll be much healthier.



57.
58.

59.

61.

62.

63.

67.

és.

69.

70.

A) take off B) keep off C) get off D) set off

He was to steal the money when he saw it lying on the table. e
A) dragged B) tempted C) elicited D) attracted .+ ..
Being somewhat short-sighted, she had the habit of ___ at people.
A) glancing B) peering:(’ ’ C) gazing D) scanning
Of the thousands of known volcanoes in the world, the __ majority are inactive.
A) tremendous B) demanding C) intensive - D) overwhelming
. In general, matters which lie entirely within state borders are the _  concem of state
governments .
A) extinct B) excluding C) excessive D) exclusive

The poetry of Ezra Pound is sometimes difficult to understand because it contains so many

references.

A) obscure B) acute C) notable D) objective

The mayor was asked to ____ his speech in order to allow his audience to raise questions.

A) constrain B) conduct C) condense D) converge

The moming news says a school bus __ with a train at the junction and a group of policemen

were sent there immediately .

i

A) bumped B) collided  Clorashed .. D) struck |

." Sometimes patients suffering from severe pain can be helped by “drugs” that aren’t really drugs at all

sugar pills that contain no active chemical elements.

A) or rather . B) rather than C_) but rather D) other than
. We are writing to the manager ____ the repairs recently carried out at the above address.
A) with the exception of B) with the purpose of
C) with reference to D) with a view to
When [ said goodbye to her, she _ the door.
A) saw me at’ B) set me off C) sent me to D) ghowed me to
In the meantime, the question faci;lg business is whether such research is _ the costs.
A) worth B) worth of C) worthy . R) worthwhile
During the nineteen years of his career, France .Batiste has won fhe _ of a wide audience
outside haly. .
A) enjoyment B) appreciation C) evaluation D) reputation [ ,
Although most dreams apparently happen _ , dream activity may be pr(;V(;ked by extemal
influences.
A) spontaneously  B) simultaneously C) homogeneously D) inslantaneously
He is holding a ____ position in the company and expects to be promoted soon.
A) subordinate B) succeeding C) successive D) subsequent

Part IV Short Answer Questions (15 minutes )
Directions: In this part there is a short passage with five questions or incomplete statements.

Read the passage carefully. Then answer the questions or complete the statements
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. in the fewest possible words.

' .Ee"l‘&néler should have known better: after all, he works for a large auto-insurance company. It
won’t hurt to leave the key in the truck this once, he thought, as he filled his gas tank at a self-service gas
station. But moments later, as he was paying the money, he saw the truck being driven away.

In 1987, 1.6 million motor vehicles were stolen in the United States—one every 20 seconds. If
current trends continue, experts predict annual vehicle thefts could exceed two million by the end of the
decade. '

Vehicle theft is a common phenomenon, which has a direct impact on over four million victims a
year. The cost is astonishing.

Many police officials blame professional thieves for the high volume of thefts. It is a major money-
maker for organized cime. Typically, stolen cars are taken to pieces and the parts sold to individuals. But
as many as 200 000 cars are smuggled out of the country every year. Most go to Latin America, the Middle
East and Europe.

Only about 15 percent car thefis result in an arrest, because few police departments routinely conduct
in-depth auto-investigations. When thieves are arrested, judges will often sentence them to probation (2%
), not immediately put them in prison because the prisons are overcrowded with violent criminals.

One exception is a Michigan program that assigns 92 police officers to work full-time on the state’s
65 000 car theft cases a year. Since 1986, when the effort began, the state’s auto-theft rate has fallen from
second in the nation to ninth.

How can you protect your car? If you live in a high-theft area or drive an expensive model, consider
a security system. It may cost anywhere from $25 to $1000. Some systems engage automatically-simply
removing the key disables the fuel pump and the starter. When cars are equipped with such systems, thefis
may drop by one-third. In some states, you may be able to use a device that transmits radio signals,
allowing stolen cars to be tracked by police.

Questions:
71. What is the passage mainly about?

72. What does the author think Joe Templer should be blamed for?

73. How serious did the author predict the annual vehicle theft could be in the United States in 19897

— / c 7 il

74. What are the two ways thieves sell the stolen cars?
>iy, S e o M ‘ L - Jo ,-'/'*v, N

A

75. What type of security system can help the police track down a stolen car?

Part V. Writing (30 minutes)

Directions: For this part, you are atlowed thirty minutes to write a composition on the topic Haste
Makes Waste. You should write at least 120 words and you should base your
composition on the outline ( given in Chinese) below:
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Haste Makes Waste




1997 4E 1 H RFHIENHFH A S ZWER

Part I Listening Comprehension (#§)

Part I Reading Comprehension

Passage |
44, EERERTAREMMA, BRERCEMN—MERKLREL, BRLE

SEERLREEUAR, A0 L TR AR R R EREIR? fEA P DL

FER.

21. [B] AR HA G M A4518. BHER “HMNLCERESRIGET P B ™EMN
BB o CES—BURFIBUN & RS b b i B a0 BT ®, W0 B A0 R 2 4 Rl
PUETT R E BRI, BIHURIERESR.

22. [A] ARMIBIAERE =BPR R T4, ATIERN “BEHABORBLREERTHE
REREZR/E"., YEF=BRIICVAEEHTRFRITEREZLOBERILRE, gk
I RIL IR EERIE S TSN, kBN BA Bk i s iR R 5B b TR T A R B A1
FEX/LE, Hilh AWAEREE,

23. [D] AREHBFECHIRS T T EYH Mk, DIREN “AFEW M EBERLES
L. XERJG—BIEH “Because company executives are afraid. .. They hesitate at the
thought of. . . and security staff (23 &l PeHEE F M4 AR & 30 i B g 20 A o v AR SR OB R, i
fIRBT)”, T DB RHEREER.

24. [C] AEMR—-EBRRLEINE T, SHAAHAHEL. CTEN “Mi1E0 S HFaRN
HIAR B 5 S — 10 LAE", SCES AL BRE]: “Unlike other lawbreakers, ... All too often, their
demands have been met. . .”, SHAMEEE AN, HRIDEEEFEERES, RNMUERS
Tilir, BERGIMEE, HERGAEBEWME, Tl CHNERER.

25. [B] AREARIXENEBZAERM 4. BIERN “NAF 2 o w8508 ¥ gEak # gD ",
ERHRRCREE IR, THEEEREEENILES T&RIERTASZRERAH
B, TR BINERER.

Passage 2
ACHE TR, (FECREBERIXIFERIRNENSE, RERETACH

PUN=

26. [D] ARARBEEN THENSEREMRMY. ATIEN “HEAKLK"; BHEN “BR
f7; CHUECY “AZH"; DIEN “RWM", XERE AR, “RENFHEL
Zla, e rAEERMNESHAR, RAMELSMIERZEELRRN”, TRES
TR SRR, DIHERESR,

27. [D] AEHFAREZER S EHER, TEHAXKENRES -1 EH. ATEN K
BEY”; BIUENY “HEEFENAT; CIUEN “BMH”; DIEN “ALL2M", LES -
BE G — A #% “... opponents of nuclear energy... bring a direct threat not only to the
10



28.

29.

30.

environment but also to civil liberties™, AJ WWABA DA MK EER AL W), Btk D TN EFHER
(C] ABGHRG L ASERLRER ANTSHRR, FREEM 4. CHEN “EREHE—TL
W R R S AWIE KT R, XESF-BFILAERT “. .. nuclear energy. .. is
therefore essential for an industrially developing society”, F il C IR IEHIEF .

[A] ABOEMEE LR HE— . ATBUERN "Rl ™R & KA —E gk
T MAGSIRE R AEE B R, O SCE R AL RE SN AR (B A AL
R SOWEE —BOAES TN AT, FERETHEFEBCHMWA: “. .. it is doubtful
whether this growth will or can continue”, AL A NIEREE.

[B] ABUAM CERE—AENERARM A, AVERS “REBGHIRE"; BIREN
SR AR AT CHEDY “HEBIRITE AT R A" DIEN BRI EERERE,
CER AR, TR TR RO & MR EFIRA RN A G, EERETA
AV, INBLE B TAER ISR, BIONEREE,

Passage 3

31.

32.

33.

34.

35.

Aks CEDHE T A E R AE A AR,

[C] ARUAMARE CE, RITWAREFETR o CHUEN “MANTHRHEHATHH K
A BN W, CFEH—BHEH “Clothes play a critical part in the conclusion we reach. . .
They tell us a good deal about...”, H] WL CI A ERER,

[D] ARUEFARBECES =B, BTSN XML SR AGE THE /KR
BE . o DIREN “HBMbMEARXERRERD” ., XEWE =RE MR
KEEAFACAEARXR PR EFABRNAL, MIEEERATE A EEFXLAE”,
R D WA E A E .

LA]. ABAAE NS —4THARY “precedent” —iAIEE R4, ATEY “iEAME
FBEE T BT A" . Precedent —iR) B R “5&6”, HL AN IEREE,

(D] AEHFRECE, FERV O R RMISHmE, FREMf 2. DIEN “M
% Fanfpidad 2 8 R Ha ARER A 1047, XEHENKRES, “GEHACHEIE
BEF TR ARKMEE YRR HET 5L A", TR DI HEREE,

[A] REBWECENFENEREMT 4. ATEN “KEHR"., XEFESHED) YR
FIWT NI, RERRARE TEEMNLR. CEFRINIITFZ2EXHANEE. 4.
MEEE", AR CHEORBEAXFENAEEGHN, TRAXHWTIENERERENE,
NI A 5CH B8 2R

Passage 4

36.

37.

AR SCEGNE TRV R ERE TP IRSRET . BRIFRAM0EE,
[B] AR YE LT PI%, “things formerly judged to be best left unsaid (I3t ik N
B AERERER)” RATRERIE 4. BIMEN “SE2MENWAHTF BRI,
MEERE R
LA AR R, BRI EENHNERMY L. ATER LM L%
MIIRH ZI0F", CEPFE _BRE], “... advancement more often depends on how many
people know you and your work, and how high up they are”, HER “BRABBTHELEL /LA T#
IRIRA TR, AR AL, Wt RIBIROIE AR T g%, BAWNE
SR, I AU ERER.

11



38.

(C] AREHEHZMBARNEERABCHERA o CIEA “fATARELEALN]
IWHBNTR BRI R F MBI TRk G, FZBEPEIEE AR, “GxfBA
O A URBITERRA ZEE MU ERNFRE, BERBRIABS”, TR CH
IEREE.

39. [C] AREEREE X T Coleman WA RERITMAY, ATEN “BARMAK"; BIEN
CWATRY; CHIE N “REMAE”; DIVEN “BREM. XEHE-BEFE . HA4EH,
“Ridiculous beliefs? Not to many people. ..”, TMEHZFAB A FERIKF XS, 0 RIEEHIA
KH A “insightful” .

40. [B] ARBMRAIRERM 4, BUIEN “RAHACWEEN", XIERXEMEALN D
LJEAR, EH ERER.

Part Il Vocabulary and Structure
41. [B] UA#fT] AREDTE 2008018 LA BET . flexible B “RIEH, WL, BTy,

42.

43.

45.

47.

[C]

. [D]

versatile RN “ZAZZN, HLZFEEEN", S8 BEMAF,; sophisticated B H “H 24
B, E2THHEY, E480, SHXMN"; poductive B H “Z70, SEESH, £
G

[FX] MFA—BEAZEMER, haRE, BRAE, T2EEGILR RS,

(RS ] A B & 17 18 LAY BE BT, sponsor By “BEBIRY, REAN, 2 E",
contributor BN “HHBIE, HEBEE”; advocate BH “HBH, BRE", HoHME,
performer F2h “RIHEHE" .

(RS0 ] TS BHE T R B S e M B IF R &,

[ENT ] AR Zh iR 3R LRI BEMT . ascend BN “ LFF, AE, 57, HiE Lids
descend, RN “TRE, T, FTkR”, FFEaE, decline BN “HE, 3B, g,
plunge BN “fHHHA, A",

U] AT B3R T W, EAPRERIIFETLT .

b ] A BEMRAT 3Rl SCR BT . enforce B R “TRAIERAT, 38387, intensify &
HOHNER, FRALTS confim BN “UESE, WAL strengthen BN “HIE, MR, I
w, fFEnE,

UFRSC] MfiTAEME, STl LATRAT BB, T A 22 M (o A

[t ] AR SRl AN . deprive sb. of sth. BH “ZFd; k3", oM
B exclude BN 44, HER”; disable BN “MFRE"; grip BN “MNE, B8R",

(R3] XIFFEHMEMRE THAMITERES .

UET ] AR SRR & AT, indulge in B “UIkT, BT, 5648
FAFE; subscribe to 4 “4B#K; ITPI"; hang on B R, REW, AHT;
engage in B “NFE, 257,

[F3C] BEAAR, RNFFEFEB L —HEREZ T,

[A] [fRHT ] AR 4 171E SLAIHEHT . have access to AREEER, BEE A B
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27, PRI, excess BA “ib4r, b8, iHF”; recreation BN “IEGHE”,
excursion B A “REMRAT, W,
D30 ] 7R X S0 00 B B 39 AATTAT LA 6 8% 438 AR NG ok 1t



